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]. (15%) Solve e* +(xe’ —1)y'=0; y(5)=0.
2. (15%) Solve y"—4y+4y=6e>"; p(0)=1, y'(0)=—1.
3. (15%)  Use the Laplace transform to solve
Y'H2y'+2y =6(t - 4); »(0)=0, y'(0)=0.
4. (15%) Evaluate the surface integral ﬂ f(x,y,z)do, where f(x,y,z)=xyz and
2 1s the part of the plane z=x+y with (x,y) lying in the square with
vertices (0,0), (1,0), (0,1) and (1,1).
5. (20%) Solve the system
X 0 0 2 X,
x'r=10 -1 0 Kx,
x;' V201 X,
6. (20%) Solve the partial differential problem.
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u(0,y)=0 foz_f 0<y<2,
u(2,y)=4 for 0<y<2,
u(x,0)=0 for 0<x<2,

u(x,2)=0 for 0<x<2.




